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        Quiz 2 (10 points)

1. 
[image: image1.emf]









 EMBED Equation.3  [image: image2.emf]


(−3x2 − 2x − 4)+ (2x2 − 5x + 6)
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(2x2 + x + 2)− (−4x2 +3x −1)
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(4y2 +3x2 + x − y)− (−3y2 + 2y)
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(8+12)÷ 4− 6
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20− (33 ÷ 9) ⋅2
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22+ (3⋅2)2 ÷ 2
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5x (y+ 2x +3)
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6(x +32 + x2 )










6(

x

+

3

2

+

x2

)


9. 
[image: image10.emf]


2a (15− 5
2



+ 2(1
2
+
1
2
)− b2 )










2

a

(

15

-

5

2

+

2(

1

2

+

1

2

)

-

b2

)


10. The Minnesota DNR is concerned about the size of the moose population. In order to get an idea about the number of moose in northern Minnesota, the DNR tagged 100 moose at random over all of northern Minnesota. Recently the DNR flew over northern Minnesota and sighted 85 moose from a plane. Of the 85, they were able to identify that 3 had been tagged. Based upon these data, what is the estimate of the number of moose in northern Minnesota?
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